



US CONCRETE AND PAVING INC.

Date: 1/19/23

26032 Ridge Manor Drive Damascus, Maryland 20872 TELEPPHONE: 301-414.0020 FAX: 301-414.0021

Attn: Alan Chen Town Of Vienna Department Of Public Works

Customer: Town of Vienna - PW

Job		Payment Terms	Date
	Celio Guzman	30 NET	

Qty	Description	Unit Price	TOTAL
1	Drainage Improvement at Valley Drive. (Revised)	\$160,267.12	\$160,267.12

Subtotal

Sales Tax Included

TOTAL \$160,267.12

IFB -19-06 Town Of Vienna on Call Small Task Concrete Maitenance

Contractor: US Concrete and Paving, Inc._____

Cost Estimate For Task order Number:

Project Name : Valley Drive Drainage Improvement

ITEM NO.	DESCRIPTION	ESTIMATED QUANTITY	UNIT	UNIT PRICE	AMOUNT
1	REMOVE AND DISPOSE OF CONCRETE DRIVEWAY APRON		SY	3.18	\$0.00
2	REMOVE AND DISPOSE OF CONCRETE SIDEWALK		SY	3.18	\$0.00
3	REMOVE AND DISPOSE OF CURB AND/OR CURB AND GUTTER	125.00	LF	2.12	\$265.00
4	REMOVE AND DISPOSE OF BRICK AND OR/CONCRETE PAVERS		SY	3.18	\$0.00
5	SAWCUT ASPHALT PAVEMENT (1" – 4" DEPTH)	640.00	LF	1.06	\$678.40
6	SAWCUT CONCRETE CURB AND GUTTER AND ENTRANCES	24.00	LF	0.53	\$12.72
7	SAWCUT SIDEWALK		LF	1.06	\$0.00
8	REGULAR EXCAVATION – REMOVE AND DISPOSE	281.00	СҮ	79.50	\$22,339.50
9	SILT FENCE		LF	1.06	\$0.00
10	TEMPORARY SAFETY FENCE AND TREE PROTECTION		LF	1.06	\$0.00
11	CL-III RCP, 15" DIAMETER		LF	53.00	\$0.00
12	CL-III RCP, 18" DIAMETER		LF	53.00	\$0.00
13	CL-III RCP, 21" DIAMETER		LF	53.00	\$0.00
14	CL-III RCP, 24" DIAMETER		LF	53.00	\$0.00
15	ES-1, END SECTION, 15" PIPE		EA	106.00	\$0.00
16	ES-1, END SECTION, 18" PIPE		EA	106.00	\$0.00
17	ES-1, END SECTION, 21" PIPE		EA	106.00	\$0.00
18	ES-1, END SECTION, 24" PIPE		EA	106.00	\$0.00

IFB -19-06 Town Of Vienna on Call Small Task Concrete Maitenance

			-		
19	INSTALL CURB INLET (4' – 8' DEPTH)		EA	530.00	\$0.00
20	VDOT STANDARD UD-4 EDGE DRAIN (4")		LF	106.00	\$0.00
21	GEOTEXTILE DRAINAGE FABRIC		SY	106.00	\$0.00
22	ADJUST METER BOXES		EA	106.00	\$0.00
23	21-A STONE	290.00	TON	53.00	\$15,370.00
24	21-B STONE		TON	53.00	\$0.00
25	VDOT STANDARD #57 STONE	30.00	TON	53.00	\$1,590.00
26	CURB OR CURB AND GUTTER (CG-2, CG- 3, CG-6, OR CG-7)	125.00	LF	53.00	\$6,625.00
27	STANDARD CONCRETE DRIVEWAY ENTRANCE		SY	84.80	\$0.00
28	DRIVEWAY RESTORATION		SY	90.10	\$0.00
29	4" BRICK SIDEWALK PAVERS, INSTALLATION		SY	159.00	\$0.00
30	4" CONCRETE SIDEWALK		SY	84.80	\$0.00
31	6" CONCRETE PAD		SY	47.70	\$0.00
32	CURB RAMPS, CG-12A, B & C (PRICE TO INCLUDE 4" 21-A STONE & DETECTABLE WARNING SURFACE)		SY	106.00	\$0.00
33	ASPHALT TYPE BM-25, A THRU D	60.00	TON	106.00	\$6,360.00
34	ASPHALT TYPE SM-9.5, A THRU D	20.00	TON	106.00	\$2,120.00
35	SEEDING TO INCLUDE LIME, FERTILIZER, AND MULCH		SY	1.06	\$0.00
36	SODDING (TO INCLUDE 2" TOPSOIL AND FERTILIZATION)	25.00	SY	5.30	\$132.50
37	TOPSOIL (2" DEPTH)		SY	3.18	\$0.00
38	APPLY NTCQS-1hM NON-TRACKING TACK AS SEAM SEALING TO PAVEMENT PATCHES (MIN 4 INCHES WIDE)	640.00	LF	10.60	\$6,784.00

Contractor: US Concrete and Paving, Inc._____

IFB -19-06 Town Of Vienna on Call Small Task Concrete Maitenance

	HDPE Dual wall Pipe 15" Diameter	320.00	LF	120.00	\$38,400.00
	DI-3B	1.00	EA	7,575.00	\$7,575.00
	MH-1	2.00	EA	6,500.00	\$13,000.00
	Test Pit	6.00	EA	1,200.00	\$7,200.00
	Concrete Piers over utilities	8.00	EA	783.00	\$6,264.00
	Tied 4" PVC resident drain into new Storm sistem with inserta Tee	4.00	EA	1,735.00	\$6,940.00
	Cast inplace Expantion of Existing catch basin	1.00	EA	4,869.00	\$4,869.00
	Tied Into existing Structure	1.00	EA	3,242.00	\$3,242.00
	Inlet Protection	2.00	EA	375.00	\$750.00
	Mobilization	1.00	LS	9,750.00	\$9,750.00
	Mantainance of Traffic	1.00	LS	0.00	\$0.00
					\$0.00
					\$0.00
					\$0.00
					\$0.00
					\$0.00
					\$0.00
					\$0.00
					\$0.00
				TOTAL BID	\$160,267.12

Contractor: US Concrete and Paving, Inc._____